
08-06-2025

Catalyst 5VX Transit Wheels 

New rear frames required with serial numbers prior to C5053765, C5HD003546, or CVX0091137 Not available with Heavy Duty

Option
 

Item Number Part Number Description Quantity

1-4, 5a, 6-9 505421 Catalyst 5VX Transit Wheels Tower Assembly
Kit, Short (PAIR) 1

Used with 14" - 15" rear seat heights



08-06-2025

Item Number Part Number Description Quantity

1-4, 5b, 6-9 505422 Catalyst 5VX Transit Wheels Tower Assembly
Kit, Medium (PAIR) 1

Used with 15.5" - 17" rear seat heights

1-4, 5c, 6-9 505423 Catalyst 5VX Transit Wheels Tower Assembly
Kit, Long (PAIR) 1

Used with 17.5" - 20" rear seat heights

1-4, 5a, 6-9 506286 Catalyst 5VX Transit Wheels Tower Assembly
Kit, Short (One Side) 1

Used with 14" - 15" rear seat heights

1-4, 5b, 6-9 506287 Catalyst 5VX Transit Wheels Tower Assembly
Kit, Medium (One Side) 1

Used with 15.5" - 17" rear seat heights

1-4, 5c, 6-9 506288 Catalyst 5VX Transit Wheels Tower Assembly
Kit, Long (One Side) 1

Used with 17.5" - 20" rear seat heights

1 003501 Tipping Lever (Step Tube)/Transit Wheel Sleeve,
CAT5VX 1

2 100860 M6 X 35 Hhcs P/Thd Zc 1

3 100746 M6 Flat Washer Blk Zn 1

4 100658 M6 Nylock Nut Blk Zn 1

5a 003701 Transit Wheel Tower Short 1

Used with 14" - 15" rear seat heights

5b 003702 Transit Wheel Tower Medium 1

Used with 15.5" - 17" rear seat heights

5c 003703 Transit Wheel Tower Long 1

Used with 17.5" - 20" rear seat heights

6 000347 M6 x 1.0 Threaded Barrel 1

7 101701 Washer 3.315/.350 x .425/.525 x .059/.067 18-8
F/W 4

8 100667 M6 x 12 BTN SHCS BLKZC w/Patch 2

9 100790 Caster 3" Rollerblade 1


